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Year 6

Mathematics
Arithmetic

Multiplying and Dividing by 10, 100 and 1,000 – paper 2

First name

Middle name

Last name

Date of birth Day Month Year

School name
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2642 ÷ 100 = 

2.551 x 10 = 

19.7 ÷ 1000 = 

1 mark

1

1 mark

2

1 mark

3
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64.8 x 100 = 

5.413 ÷ 1000 = 

134 x 10 = 

1 mark

4

1 mark

5

1 mark

6
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6.877 ÷ 10 = 

392 ÷ 1000 = 

8.3 ÷ 100 = 

1 mark

7

1 mark

8

1 mark

9
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871.7 ÷ 1000 = 

58.8 ÷ 10 = 

85.9 x 10 = 

1 mark

10

1 mark

11

1 mark

12
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80.1 x 1000 = 

622 x 1000 = 

685 ÷ 10 = 

1 mark

13

1 mark

14

1 mark

15
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335.3 x 1000 = 

6.403 ÷ 100 = 

3.901 x 1000 = 

1 mark

16

1 mark

17

1 mark

18
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84.3 ÷ 10 = 

32.65 x 10 = 

1 mark

19

1 mark

20

1 mark

21 8.390 x 100 = 
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4929 x 100 = 

1 mark

23

24

8.1 x 100 = 

36.3 ÷ 100 = 

1 mark

22

1 mark

Total
marks
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622 x 1000 =  622,000

80.1 x 1000 =  80,100

685 ÷ 10 =  68.5

335.3 x 1000 =  335,300

6.403 ÷ 100 =  0.06403

3.901 x 1000 =  3,901

84.3 ÷ 10 =  8.43

32.65 x 10 =  326.5

8.390 x 100 =  839

8.1 x 100 =  810

36.3 ÷ 100 =  0.363

4929 x 100 =  492,900

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

2642 ÷ 100  =  26.42

2.551 x 10 =  25.51

19.7 ÷ 1000 =  0.0197

134 x 10 =  1,340

5.413 ÷ 1000 =  0.005413

64.8 x 100 =  6,480

6.877 ÷ 10 =  0.6877

392 ÷ 1000 =  0.392

8.3 ÷ 100 =  0.083

85.9 x 10 =  859

871.7 ÷ 1000 =  0.8717

58.8 ÷ 10 =  5.88
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Answers

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.


